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¢y — annual average of selected measurement by weighted regression line
method, IFJ PAN,
Cunp— @annual everage, Mace Head.
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Comparison - IF) vs MHD (CFC11)
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Comparison - IFJ vs MHD (CFC113)
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Comparison - IFJ vs MHD (CHCI,)

CHCIs concentration, ppt
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Comparison - IF) vs MHD (CH,CCl,)
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CH3CCls concentration, ppt
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Comparison - IF) vs MHD (CCl,)
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Comparison - IF) vs MHD (CFC12)
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Comparison - IFJ vs MHD (SF)
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1997

e 10,3+0,5 0,8+0,5 42,2+1,9 8,0£0,6 12,6 £0,7

9,8+0,3 0,7+0,3 51,6+1,3 8,4+0,6 12,4+0,5

8,6+0,3 2,1£0,3 39,6+1,2 7,9£0,5 9,3+0,5 10,2+1,1
m 7,4+0,4 7,6£0,5 48,4+ 1,8 1,1+0,5 17,5+ 0,6 0,3+0,8
m 59+0,5 50+0,7 47,9+23 0,4+0,5 15,9+ 0,9 7,1£0,9
m 5,5+0,3 51+0,4 22,9+0,9 -0,7+0,5 10,5 + 0,4 4,5+0,6
m 6,4+0,3 9,1+0,3 27,6+1,0 -2,1+0,4 8,4+0,3 0,2+0,18 49+0,5
m 4,4+0,3 11,0+ 0,3 25,5+0,9 -1,9+0,4 8,1£0,3 0,3+0,07 2,4£0,6
m 1,6 +0,3 17,8+ 0,4 24,9+1,0 -0,7 £ 0,4 6,8+0,3 0,5+0,06 3,0£0,5
m 6,2£0,3 14,3+0,5 25,7+0,8 1,4+0,3 10,6 £0,3 0,8+0,06 6,5+0,5
_ 12,2+0,5 7,4+0,7 21,6+0,8 -1,0£0,3 9,5+0,3 0,8+0,06 50+0,5
_ 27,5+0,3 56+0,5 11,2+0,8 -0,5 +0,4 8,4+0,3 0,9+ 0,05 0,6 £0,6
m 26,9+0,2 10,9+ 0,6 6,8+0,6 -0,9+0,2 5,7+0,2 0,9+ 0,04 -6,8+0,5
_ 26,3+0,3 19,5+0,7 14,4+0,7 -0,3+0,2 6,5+0,3 0,7 +0,07 -10,3+0,5
_ 25,9+0,6 8,9+1,4 14,2 0,6 0,6 +0,2 3,8+0,5 0,8+0,05 7,240,8
_ 21,5+0,6 0,7+0,8 18,8+1,1 -0,4 +0,4 2,404 1,0 + 0,08 -6,9+0,9



